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1. (a) Write ‘True’ or ‘False’:
ST @ “firy’ o

1x4=4

(i) Sales — Gross Profit = Cost of Goods Sold
A& - P a© = RFwTen 71 W

(i) There is.no difference between Hire-purchase System and Instalment
Purchase System.

SIT1-TF *ES F RY-T %R rwrs @ o i |

() Under debtors system, Branch Account discloses profit or loss of the
branch.

M AG{OS *14 RBICo 4R #TS 37 (AREH 2P I2A |

(i) Royalty Account is closed by transferring it to the Landlord’s

Account.

TN Roreftsn corat FR 343 RRo1oh I I W |



(b) Fill in the blanks :

1x4=4

A SR o[ T4

(i) Accounting Standard Board was set up in India in the year

SRS Ro-RaR 1= @6 B oo F91 W |

(i) In hire-purchase system, the buyer charges depreciationon the
price.
SIU-TY AHOS (FOR TR @RS Sy 4 A |

(iii) Selling expenses should be divided among the different departments
on the basis of
RE IR Ricn Rerr yws ___ -3 e e fofs +R = 3R & |

(iv) Shortworking is the excess of over actual royalty.
qIf5-Brelww (2R AF© TIFTURP -3 IS ST |

2. Write short notes on (any four) : 4%x4=16
5y Goret foran (R creetn wifo)

(@)

(b)

()

(@)

The provisions of Accounting Standard-6

RBorel-RE 6 72 TS LR

Termination of hire-purchase agreement

oIE1-3F8 pfed Afoee

Goods in transit

DA DGR E I RIEE

Objectives of Departmental Accounts

R fRorR SR



(e) Minimum rent

[EreEiicn

() Independent branch
FR 121

(@) Das Co. purchased two machines of ¥5,250 each from Bharat
Machine Co. on 1st January, 2011 on hire-purchase system. As per
agreement, payment to be made ¥ 3,000 down and the balance in three
equal annual instalments alongwith interest @ 5% per annum. Das Co.
writes off depreciation @ 10% per annum on written down value method.

After having paid the first instalment, the buyer could not pay the second
instalment and the seller took possession of one machine adjusting the
value of other against the amount due taking the machine @ 20%
depreciation on diminishing balance method.

Seller, after spending ¥ 100 on repairs, sold it away for ¥ 4,000.

Show the Ledger A/cs in the books of both the parties. Books are closed
on 31st December each year. 4+4+4+2=14

2011 R 1 SRR SRy 7P @A &fe @oae 5,250 Geits 151 o SRe
o PR *[1 STOI-&FY ~1&fo8 Ff TR piean 20 | 56 PR pieeia Treile
R #0517l 3,000 BT & SR G FMBT e Igadm Rofye IR 2o 5%
WTWW%WWIWWWWGWWW 10% ={©
FRPA afoe S 47 F¢q |

239 ¥l “ReNy FIF xS (@ok T8 ¥R Ry FRIts oy @Ee Rezre
91 (o (FoR Foo Wik WD Whae /R ST 20% TA© FRPEH R[OS
sy AW 1 e e iR @S 9 |

Rtrofz were F41 @t 100 5916 GRS FR 4,000 Tore RF) 961 |

TG e 3RS Ao Bt oryer | ofS qgea Bl V@R 31 R oifves 38
AR '

Or / 91
(b) What is hire-purchase system? Mention its chief features. Should

depreciation on assets be provided for under hire-purchase system?
Discuss. 3+7+4=14

—mwﬁﬁva&ﬁW&mW|w—mwﬁ—Weﬂv
WWWW@?WWI



4. (a) What do you mean by Accounting Standards? Mention the .procedure for
issuing Accounting Standards. Distinguish between Accounting Standards
and Accounting Principles.

Rore1-Re T IRicE 6 7o 2 Ror-Rior T 2R sife S 391 | Ree-RaR
TR 1% Ro1el-RR NETza Ter 291 arepz Tead 34 |
Or / 9241

(b) The following is the Trial Balance of M/s Arun and Barun, a partnership
firm, as on 31st March, 2017. Prepare a Trading and Profit & Loss A/c for
the year ended 31st March, 2017 and a Balance Sheet as'on that date :

3+6+5=14

4+5+5=14

CBTS TP S[F ¥R WA 2ARGIMT 2017 59 31 ES 2w@e 91 Tga few [{IMS
wore fial 24 | T eIty #-Ray wie oe-@neseR Bk age FR Tge-a 48

9 :

Dr. Balances

CORG RTR

Purchases
i)

Advertisement

fRearem
Wages

R

Bills Receivable
ooy Re

Printing and Stationery
B WF (T A
Trade Expenses
IFIMRTF [R
Machinery

TS

Sundry Debtors
RRY crmm
Goodwill

™

Fuel
koo

Trial Balance / %53 fisiq [R3fe
4 (Bﬁil) Cr. Balances
| GFID. TR
2,50,000  Sales
e
11,000 Bills Payable
o Re
1,50,000  10% IDBI Loan (01.10.2016)
10% IDBI ¥4 (01.10.2016)
10,000 Sundry Creditors
Ry “neamm
5,000 Capitals :
A :
13,000 Arun
¥
72,000 Barun
I9¥v
78,000 Commission
it
85,000
24,000

e (5
5,50,000
47,000
2,00,000

48,000

1,00,000
1,00,000

2,000



Dr. Balances

o5 Tz
Opening Stock
AR /R

Rent and Taxes
OIP HF F9

Land and Building
WIS =% <]

Interest on Loan
Y S _e R\

Cash in Hand

9 4

Depreciation on Machinery

TN e q@ Sy

Discount
AT

Bad Debts
SRR e
Furniture
AR

T (5<°)

90,000

19,000

1,65,000

8,000

32,000

8,000

4,000

3,000

20,000

10,47,000

Necessary adjustments :

SRR TGP :

Cr. Balances

G R

(i) Value of Closing Stock—® 75,000

SR} TGS #I0[¥ F—75,000 1

() Allow interest on capital of the partners @ 5% p-a.
RIS TG SRS qRE 5% 29 7o fig =g

10,47,000

(iii) During the year, goods worth ¥ 10,000 has been destroyed by fire.
But the insurance company agreed to a claim of & 7,000 only

AR Rove @ 4R 10,000 R ATTR GERvR 7 1 [ @R
SRC* 7,000 5 WeE frate A W



(a)

(b)

(i) Distinguish between Branch Accounts and Departmental Accounts.
=11 Roret s et Rorem wrer <@l <o ey 79 |

(i) How are the inter-departmental transactions recorded in Depart-

mental Accounts? 3
Rt o1 we:Reiy EmomRz e ffke 390 22
(i) Explain the basis of allocation of common expenses over the various
6

departments in Departmental Accounts.

Rem ferre e ez fAftn Rerr wme & Rfve 367 +0 =, I
sl

Or / 9241

Dipali Electronics Ltd. opened a branch at Dibrugarh on 1st April, 2016.
From the following figures relating to Dibrugarh branch, prepare
Dibrugarh Branch A/c and Goods Sent to Branch A/c for the year ended
31st March, 2017 : 10+4=14

frerh 2coredfe ffictee 1 «fée, 2016 R fimn Rgares @b 1 et | Rgsre
R TS TS e SR evve fofe 3R Rgers =1 o s e «fdea
AMRE] oot 31 W6, 2017 SRR el TBORT TGN A 4TS I -

T 5
Goods sent to branch 42,000
*RICE S AR
Cash sent to branch for :
=ICa Afdea J5i% 4
Rent 1,800
e qAA
Salaries 4,000
TNRE IR
Cash sales 15,000
5w Raw AL
Credit sales _ 29,000
IS Rerw
Cash collected from debtors - 23,000 -
(AMIPTPAR 2 97 44 A T/
Stock (31.03.2017) ) 5,200

¥M (31.03.2017)



e &)
Petty cash (31.03.2017) 120
Y | 4% (31.03.2017)
Goods returned by customers 1,700
RIESS IR LIS E R AN
Discount allowed to customers 1,300

AT A SmE =W

6. (a) What is royalty? What are its different types? Why is minimum rent
important in Royalty A/c? Distinguish between Rent and Royalty.
2+3+4+5=14
999 32 TR R ez R R 2 1ee9 Rorre Ryen e [ g2 st
[F FIII TS AP ATTORR Teard 40 |

Or / &l

(b) Sri Amrit Phukan took a colliery on lease from Sri Mohan Singh for a
period of 20 years from 1st January, 2011 on a royalty of ¥ 16 per ton of
coal raised with a minimum rent of ¥ 80,000 per annum and power to
recoup shortworkings was first four years of the lease.

The annual coal raised were :

Year Output
(in tons)
2011 3000
2012 3500
2013 5000
2014 9000
2015 10000

From:the above particulars, prepare the following in the books of Sri Amrit
Phukan : 4+5+5=14

(i) Royalty A/c
(i) Shortworkings A/c

(i) Mohan Singh’s A/c



ﬁwwﬁmﬁ@wﬁwﬁzoumnmwwﬁf?;
M Aer® ' | ICIFA oW &= 80,000 HFre MRS w41 A AE

TeAffe FAS 16 591 F9 fRam w6 e 21 | 5 PR e o1k 9239 foete
TP *R1 ZZ-TAATR IR S @R SRR AR |

RS TN TR <R[y
L3 A7 AN
| (5%)
2011 3000
2012 3500
2013 5000
2014 9000
2015 10000

BT U o1 N WS F RIS Tt fac oS IR cryed -
() I =ore

(i) ZZ-Trem R

(ii}) A== Fiex B



( Old Course )

Full Marks : 80
Pass Marks : 32

Time : 3 hours

1. (a) Fill in the blanks : 1x4=4
N o1 o[ 1 : :

() Revenue is generally recognized at the point of

MRS -3 TReCe Hfere W Teire F41 Cr IR Reaon 791 =

(i) In hire-purchase sysfem, the buyer charges depreciation on
price.

ST Ta(OS (FOR TR 8o SR Y A |

(i) Royalty paid on sales is debited to Account.
RER e~7e Fo39 ~Rone IR __ 2o ofks a1 = |

(iv) After making payment to third parties, the due to a partner is
paid.

PO FE ARCNY TN AOCR GG ARSI o{fReny 341 = |

(b) Write True’ or False’ : 1x4=4
S @ R’ for -

() Accounting Standard Board was set up in India in the year 1977.

SREH® Z51A-R T=F =R 1977 5o o157 391 = |

(@) The buyer. has no option to return the goods in case of
hire-purchase.

SITI=FIY (PO (FON YOO FY F41 37 ¥4 TR @11 Rew 1913 |

() Branch Stock A/c is always prepared at cost price.
11 STSTHA FRBI°1 SR T 2RFS 1 7 |

(ivy When a partner is not able to meet his liabilities, he is said to be
insolvent.

M e om SFE e ARG <fReny FReter oy 2w, com cose
oA 3 o T W |



2. Write short notes on (any foun :

59 el i (R et w1fBY)

(a) IFR Standards
IFR N-T9R

(b) Features of Instalment Purchase System

foR3-wry omfes taPEPHR

(c) Sub;lease
ToFg-STel

(d) Independent Branch

o7 "R

(e) Realization Account

RS LCED]

ES

4x4=16

3. (a) The following is the Trial Balance«of Mr. Arup Baruah’s business as on

31st March, 2017 :

oo fra fBR el 399" IR Tge el R3S 2017 w73 31 Wb fimn 24 -

Dr. Balances

(R RTR
bpening Stock
RS TG e
Purchases
iz
Bills Receivable
a1 Re
Cash in Hand
T YOS HH|
Bad Debts

SRR 4

Machinery

TZfe

Advertisement
Rerem 3
Sundry Debtors
ARy oM

Trial Balance / 58 fe 3/
Z (&) Cr. Balances
S5 R
1,60,000 Sundry Creditors
iy “neamE
4,00,000 Bank Loan
[T 99
4,000 Sales
RaFw
26,000 Bills Payable
o Rt
2,000 Commission
&R
1,32,000 Capital
=
- 16,000
1,00,000

€ o
1,50,000
87,200
8,40,000
40,000
10,000

5,20,000



Dr. Balances 7 59 Cr. Balances e (o)

S5 RS @15 TR
Goodwill 1,40,000
ok 4
Land and Building 4,50,000
TR -
Fuel 30,000
L]
Wages and Salaries 80,000
TR SF @
Rent and Taxes 40,000
SIYl HE 9
Discount 17,200
B
Interest 20,000
bl
Furniture 30,000
HHAR

16,47,200 16,47,200

From the following additional information, you are required to prepare a
Trading and Profit & Loss A/cfor the year ended 31st March, 2017 and a
Balance Sheet as on that date : 3+4+5=12

wore f wfelie Pz R FR 2017 579 31 HS 8 *[1 ILIHH I ReA1-I01
WE FAS-(EFvA 2o e TS i uft Tgs-eig eFe 9 :

(i Closing stock aswen 31st March, 2017—¥ 1,20,000
31 W, 2017 ¥R a1 S FE© “ F—1,20,000 B
(i) Depreciate machinery by 10% and furniture by 5%
TS 10% TS WF SHR 5% T Sy 4 333 A
(iii) Create a reserve of 5% on sundry debtors for doubtful debts
e 4 A 5% TS HHRA g FRI 7|
(iv) Write off 1th of advertisement

ﬁwmw%wwﬁwwfﬁamﬁ

Or / 9%[l

(b) What are Accounting Standards? State the objectives and scope of
Accounting Standards. 3+5+4=12

ﬁm-ﬁmmﬁﬁ?ﬁm-ﬁwmquﬁa«ﬁmm

*9q |



4. (a) Distinguish between Hire-purchase System of Sales and Ordinary Credit

S.

(b)

(a)

Sales. Mention any three rights of hire vendor and three rights of hire
purchaser as laid down in the Hire-purchase Act, 1972. 5+3+3=11
SE-T e T4 R S YR A 791 RS Tore 4l SCTPHR S F9

1972 T4 IO G fiul OTE1 Ricerel SWF O[U (FON 2SR DT SHIPH
ey 40 |

Or / 941

Domdom Store purchased a generator from M/s Bimal Brothers on
instalment purchase system. € 12,000 was payable on delivery on
1st April, 2012 and the balance in four annual instalments of ¥ 12,000
each on 31st March every year. The seller charges 5% interest per annum
on the yearly balance. The cash price of the generator on the date of
delivery was ¥ 54,551. Depreciation @ 10% per annum on diminishing
balance was written off each year.

From the above particulars, prepare the following Ledger Accounts in the
books of Domdom Store : 4+4+3=11

(i) Generator’s A/c
(i) M/s Bimal Brothers A/c
(iij) Interest Suspense A/c

T (BIA (oIS fAwer MG #{1 Wol Ceecnd RefS-aw crafee @ wRfRE 1 12,000
B R o1eet =t 1 «fge, 2012-3 fA «iReay 791 (2RA W 1) 5961 ocere Ive]
31 W6 @IRcy 12,000 519, 0101 S e s 1 w1 (=R | Rewrorz Iwwdnn
f&fda eoqo /R 5% T O & IR | (FARHID! TOH SN T TR 751w
T e 54,551 B3] | FRIPHN &S 7R 10% TS S Y 347 C2fee |

GWGWWW@MWWWWW&WWMW:
(i) CECCIBS o1t |

(i) CoTs. R qmrta fRored

(i) o A2 oo

What do you mean by Branch Accounting? Discuss the objects and
advantages of Branch Accounting. . 3+4+4=11

= T251e1 IRt o 36 o 2 e FRo1e SRITR R SR4PTYR wiceen 304 |



Or / &A1

(b) Luit Ltd. has a branch at Duliajan which sells goods at cost plus 25%.
From the following particulars, calculate the value of closing stock and
prepare Duliajan Branch A/c for the year ended 31st March, 2017 :3+8=11

e BRGST (PRIERS <B4 W ROKA e Fogen @1 25% ot R
TR | TS TrEY TSP R AN A P AT I AF 2017 59

31 WI6S S [l IRJCHR I YerEr M Bt oFe 41 :

)
Stock at branch on 01.04.2016 22,000
01.04,2016 SIRCY *R[{ WA
Goods sent to branch 1,78,000
e ARG (2
Cash sales at branch 2,00,000
IS o Rem
Expenses paid by Head Office :

T I QA1 I ARCNY -
Salaries 5,000

R
Advertisement 2,000 7,000

Rz
A commission of 10% on the net'profit after charging such commission is
to be credited to Branch Manager.
2T TS 7 TR AR TN TS 10% TS M1 ARGEF Rorere wefR e I
=Ie |

(a) A took a lease of a colliery with a minimum rent of ¥ 30,000 per annum
merging into a royalty of £ 5 per ton of coal raised with a right to recoup
shortworkings within the first four years of lease. The output for first five
years was given below :

A @ <51 FERELAEe 7w o 3 WP oS 5 TR eoRS 5 531 e I
o 1 = SF S e 30,000 TS R 391 2 1 gl 1R e Z7-TeoArea
o1 T PR ST R | A <A TS FH Beorrrr <Rt @S fdy 14

w1fRE

Year . Output
"7 (in tons)
EIED)]
st Nil
2nd 3000.
3rd 5000
4th 7000
5th 8000
Prepare necessary Ledger A/cs in the books of the lessee. 11

B fRyor <R TSR IO ROPPTR oS 41 |



Or / 9%A1

from

(b) What is royalty? State its different types. How does roy 343+5=11

rent?

Tl & 7 R Rfew ez Tae 391 1 7999 Rd ©1erR [ 3 ?

7. (a) What do you mean by dissolution of a partnership firm? How and under
what circumstances a partnership firm may be dissolved? Discuss. 3+8=11

a1 AR PR Sol =1 i o R w2 oA A% @FERens AffESe
R BT AW 2SS S8 IR =141 IR 2 ST 47 |

Or / 9[71

(b) X and Y are two sole traders. They ‘desire to amalgamate their businesses
and form a new firm. The Balance Sheets of their businesses as on
31st March, 2017 were as follows :

XS Y (e G IR | (SEEE e Iei AP e faeed FAR Ty
ST FCA WF O TP AfSBA oW IRALA FW© W | (SSTERR I AfSHER
Tge-°q 2017 51 31 Wb WIRS o wore fran 4= nnfees

Balance Sheet of X as on 31st March, 2017

31918, 2017 9Ificy X-3 T5e-+1a

Liabilities ((73) e (5 Assets (T[Q) T G
Sundry Creditors 50,000  Furniture 1,10,000
Ry sreamm AR
Capital 2,00,000  Stock 1,20,000
T TR
Profit & Loss A/c 30,000 Cash 50,000
#re- (I 2517 Lo C

2,80,000

2,80,000
—————



Balance Sheet of Y as on 31st March, 2017
31 315, 2017 ©IRcY Y-3 T58-9g

Liabilities (C7) e (59 Assets (T~f3) ® 5
Sundry Creditors 1,10,000  Furniture 1,60,000
ARy “reamy 54
Capital 2,60,000  Stock 1,80,000
ks LI

Cash 6,000
9% 4
Profit & Loss A/c (Dr.) ' 24,000
S~ ARGIR 51 (CefRT)

3,70,000 +3,70,000

You are required to—
(i) close the books of X;
(ii) close the books of Y;

(i) draw up the Balance Sheet of the new firm. 4+4+3=11
(O (PRI TA—
i) X-3 o 3R 1@ IR M3
(i) Y- 3o R 3@ FRW AT,
(i) T 2T TE-oE g R A |

* ¥k



